
gtrcrtegies for Adding
Whole Numbers

There ore mony woys to odd whole numbers.
Here ore some woys to odd q727 ond t1895.

q727
+ tl895

l.

2.

3.

vvv + Tvvv = rr vvv 

- 

l+ 5007AO+ 800= 1500 ---

Add in ports.

q000 + 11000 = 13 000

20+ 90=
7+ 5= a2

+8q5 is 5 less thon T900.

lf you odd 5 to 4895 ond subtroct 5 from q727, the onswer
will not chonge.

q727-5= q722
+8q5+5=+q00
To odd q722 + tlgOO:

q000 + T000 = 13 000 b t+ 600 + 22 = tI 622
7oo+ 9oo= l6oo-- 

rrvYv'LB

Add the ones. Add the tens. Add the hundreds. Add the
Trode t0 ones *Trode l0 tens --+Trode l0 hundreds---thousonds.
for I ten.

I lrt
Wzz

+ tgqs
W22



9trafegies for Dividing
Whole Numloers
There ore mony woys to divide whole numbers.
Here ore some woys to divide t+863 by 15.

l.

2,

3.

Renome t1863 os o sum of numbers eosily divided by 15.

t+500+300+63
+500+15=300
300+15= 20

63 + 15 = t+ R

320 + tl = 327

+863 + 15 = 32{ R3

Multiply l5 by numbers you know will work; to get os close to tf863 os
you cqn.

4863 + 15 : 324 R3

FNHITIq FhFITP MF-Tlq Fh-FMq FhIH-ITIOI

333232g2+
ts)md t5)m03 t5)q863 t5)qB63 t5)863 t5U IEl +5 '+5-l -'45-

3 36 36 ToI -3630 ai 3066363
60

3

4zo)> sz+
300 1

--

r5)+863
+500

363
300
T3

60
3

Divide the Bring down Divide the tens. Bring down Divide the ones. Write the
hundreds*the tens. --;Mult'ply ond --+the ones.--->l4ultiply ond * remoinder.
Multiply subtroct. subtroci.
ond subtroct.

lThFIIrg

3'2+
)q6ag
r+5

36
30

63
60

3

R3



l.

Streilegies, for,Subheictlt g
Whole Numbers
There ore mony woys to subtroct whole numbers.
Here ore some woys to subtroct 1889 from 3+qZ

lf you odd the some ornount to
both numbers, the difference
will remoin the some.

3+97+3=3500
1889+ 3=18q2
Now subtroct 3500 - 18q2,

3500 - 1800 = \TOO

l7O0-q2 = 1608

Round lBSq to 2000.

3+q7-2000=t497

Difference between rounded
number ond octuol. number:

2ooo - t88q = il t

l+qz+ lll = 1608

3.

{.

Add in steps to get from lBBq to 3tlgZ.

+ lll + lOO0 + 497

*s*/ \2ooo ,/ \ 3ooo ,/ \ 3+q7

You odded 1608 in oll, so 3497 - l88q = t608.

More ones Trode I ten Subtroct More hundreds ore Subtroct
ore needed-for lO ones.*the tens. *needed. Trode + the

Subtroct the
ones.

I thousond for thousonds.
l0 hundreds. Subtroct
the hundreds.

3+qffi
- tBSS

ffir'+817

Ww
- ffiB8q

G6o8



Strategies for lhulliplying
Whole Numbers

There ore mony woys to multiply whole numbers.
Here ore some woys to multiply 768 by |'2.

Multiply the ports of 768 by 12.

12 x7O0 = 8t100
l2x 60= 72O
l2x 8= 96

qzl6

l.

2.

3.

Multiply the ports of 768 by 10.

l0 x 200 =7OOO
10x60= 600
l0x8= 80

7680

Multiply the ports of 768 by 2.

2 xTAO = lT00
2x6O= l2O
2xB = 16

I 536

7680+ 1536 = 8000 + ll00 + ll0 + 6 = 9216

Multiply 268
bv 2.

tt
768

x12
t536

Multiply 268
by 10.

lt
768

x12
t536

7680

Add.

768
x12

I 536
7680
q2l6


